
11

1 Nm

1

1

1

2

2

3

3

2

B L E N D  M U D G U A R D S

ANY QUESTIONS?
technik@rosebikes.com

ROSE Bikes GmbH

Schersweide 4

46395 Bocholt, Germany

 2
85

 m
m

 V
or

de
rr

ad
 /

 fr
on

t w
he

el
 /

 r
ou

e 
av

an
t /

 v
oo

rw
ie

l

 3
45

 m
m

 H
in

te
rr

ad
 o

be
n 

/ 
re

ar
 w

he
el

 to
p 

/ 
ro

ue
 a

rr
iè

re
 e

n 
ha

ut
 /

 a
ch

te
rw

ie
l b

ov
en

 3
65

 m
m

 H
in

te
rr

ad
 u

nt
en

/ 
re

ar
 w

he
el

 lo
w

er
 /

 r
ou

e 
ar

ri
èr

e 
en

 e
n 

ba
s 

/ 
ac

ht
er

w
ie

l o
m

la
ag

2 Nm



2

3

1

5

44

*

2 Nm

5

*Gravel: 0x / Road: 1x

2

2 Nm

1

*

*Gravel: 1x 5 mm / Road 1x 5 mm + 1x 2,5 mm

2 Nm

2 Nm

4

V2025.04

2 Nm

SIZE S

SIZE XXS

SIZE L

SIZE XXL3

SIZE XL

SIZE M

SIZE XS

*

*Gravel: 1x / Road 2x

B L E N D  M U D G U A R D S

ANY QUESTIONS?
technik@rosebikes.com

ROSE Bikes GmbH

Schersweide 4

46395 Bocholt, Germany

2x M5x14 mm

2x M5x16 mm

Rear Rack: 
  

3x Spacer 2,5 mm

4x M5 Washer
Ø 14 mm

3x M5x16 mm

Front Rack:

2x M5 Washer
Ø 10 mm

2x M5 Washer
Ø 14 mm

3x Spacer 5 mm

1x Spacer 2,5 mm


